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3 (Sem-4/CBCS) CHE HG/RC
- 2023 |
CHEMISTRY
( Honours Generic_ /Regular)
‘Paper : CHE-HG-4016/CHE-RC-4016
Full Marks : 60
Time :.Three -hours'

The figures in the margin indicate
- Jull marks for the questions.

. Answer either in English or in Assamese.

1. Answer the following questions : 1x7=7

. -

(a) What is the value of ionic product of
water at 25°C ?

5°C@WWW@WWWP

(b) Name one reducing dlsacchande

90! Reries i o
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(c) Write the mathematical expression of

Clausius-Clapeyron equation. -

e @Mad TETeReR sHafes o IR
forat | |

(d) Out of formic acid and acetic acid which
one would you expect to react with

Tollen’s reagent ?

T T Tis bt uites fowee @RGIE

e iR (i [ w3 2

(e) Draw the primary structure of broteih.
2o enﬁﬁw stoma foa st |

() The Gibbs’ phase Fule 38
ﬁﬁWQWQﬁ%@mﬁ'

) F=C-P+1
(i) F=P-C+1
(i) F=C-P+2
(i) F=P-C+2
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(g9 Which one of the following amines will
not show carbylamine test ?

S5 RITD! ST RS ST (TR 2
(i) CH,NH, |

(i) CH,CH,NH,

-(iii) (CH,;),NH

(iv) (CH,),CHNH,

. 2. Answer the following-questions : 2x4=8

(a) Write the number of phases and number
of components present in the following
system : :

oS Al SRS ARE] A WE TAI A
GRS

() Ny(g)+3H,(g)=>2NH3(g)

(ii) - Solution of acetic acid in water

e Aibte \ibee we

(b) How does the molar conductivity of a
weak electrolyte vary with dilution ?
Explain.
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- () How would you convert p-mtrobenzoyl
chloride to p-nitrobenzaldehyde ?

';}nﬁﬁﬁamwﬂamﬁmﬁpwﬁﬁﬁamaﬁﬁhﬁﬁxa'
. o weles sfEate

(d) Amino acids have exceptionally low K,
and K, values. Why ?

ofim G STt K, I K, 9 R 3028 3l 5w 2

3. Answer the .following ques;tioris : (any three)
5><3 15

weTs fim epscare T i (Rzaizat fofasy)

(a) What is tertiary structure of protein?
Mention different types of interactions -
inv_olved in tertiary structure of protein.

1+4=5

aﬁa%ﬂmﬂéﬂﬁwaﬁﬂaﬁmﬁﬁm‘ﬁs
& ArareE . oo R Qs

(b) Draw and explain the phase diagram of
water system. Why is the phase diagram
of water system different from that of

“other one component system.
| 2+2+1=5
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(c) Give five points each of similarity and

dissimilarity between glucose and
fructose. :

TG E TSR ABOLT A W LA
~ ferind

(d) Explain the principle of conductometric
titration of a strong acid vs. strong base.

%wﬂawwmﬁéﬁﬂmw
AR IS SNG4 |

(e) At 25°C, the specific conductance of
carefully distilled water is 58.0x10-7 Sm’!
and the A°m values for H'.and OH- ions
are 349.8x10* Sm?mol! and 198.5x10
Sm2mol! respectively. Assuming that A
differs very little from A° , calculate the
ionic product of water at 25°C.

25°C TIEere ARAE “ifes a1 AR a2
ARIZER TN 58.0x 107 Sm! [GF H* 1% OH-
L A° - IUEFCH 349.8x% 10* Sm?mol!
©I% 198.5%10* Sm?mol™ | T A TE 1°, 4
AT CESHE A AL AP (E 25°C TATNS
AR ST ST ST 9] T4 |
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4, Answer the following questlons (any three)
10x3=30

weTe WAl 2«I(aR] Ted ﬁm"(ﬁmzancﬁﬁr)

(a) Discuss how the primary structure of
peptide is determined.

Col={GizTa 2 ARE sioa e Rela 2 g =i

-1
(b) (i) Explain a method of conversion of
glucose into arabinose. - S
25 G QIR G ARG T Bl TS
I

(i) How is benzenediazonium chloride
- prepared ? How is it converted to
benzene, phenol and p-hydroxyazo
benzene ? 2+3=5

@A TROYTRTN FI20 ong adwe

T TP WS (IARA, A i p-
3 e Ewea v Foiies 39
ETike

(c) Discuss the mechanism of the following

conversions : 5x2=10

G R R K IS RS PR b e

() Benzaldehyde to cinnamic acid

W@ﬁi@ﬁﬁaaﬁw
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(ii) Acetamide to methanamine
GBENRGT RLAIRA

(d) What is eutectic point? Draw and
explain the phase diagram of Pb-Ag
.system. Write two uses of eutectic
mixtures. ' 1+(3+4)+2=10

3TG0F [/ T2 Pb-Ag ©FR 2wy Ba <ifE
[ AN | TTOFOF AT 161 IR it |

(e) () Whatis meant by transport number
- of an ion ? Explain the method of

its determination by moving
boundary method. 2+5=7

R I7gAIE T & 39 e sawe
ARG srafora 2 v fefa et g
T4 |

(i) A moving boundary experiment was
carried out with 0.01 M solution of
KCl (specific conductance = 1.29
Sm™') using CdCl, as the indicator
electrolyte. A current of 5.21 mA
was passed through the tube of
0.230cm? cross-sectional area. It
was observed that the boundary
moved through 4.16cm ‘in 1h.
Calculate the mobility of K* ion.

. 3
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CdCLT 753 Ry Resry Zpie I7e=
3 0.01 MaiveR KCI1%a ([ «ifkaifzer
= 1.29 Sm-!) 96X berie ~if3fd st
TR B9 (ZR| ASTFIGIS 0.230 cm?
CFIBIER TSR 5.2 1 mA 2RI BIETS T
2fee | RTR Fore @F Tore ARIIT

4.16 cm s (2fee | @3 oA sgEe

K* TR F5eT! ste) < | |

(/) Define critical solution temperature.
What do you mean by upper critical
- solution temperature and lower critical
solution temperature ? Explain the
phenol-water binary system. Explain the

effect of impurities on critical solution
temperature. ' . 1+2+5+2=10

Fifes w9 SR Acwl | OF wifes wad

Taeol SIS [ i o Saee! e & a2

frmEt-=lidl S {1xge ©F I A | FIfes 719
. BHOR CITS T AR A1 1| -
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